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f (X) =sin 2x + 4acosx + b =2cos? x —1+ 4acosx + b = 2(cosx + a)? +b—2a” -1
X=cosx LB E-1=X=1THY, —1=X=1TBIT5. F(X)=2(X +a)> +b-2a? -1 DK K « K/I%
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—a<-1 1=amtx
KAMEIX F@Q=4a+b+1 H/MEIX F(D)=-4a+b+1
4a+b+1=6, -4a+b+1=-6 . 4a-7=b=-4a+5
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-l<-a<l -l<a<ldtx
RKMEIZ, FQ)=4a+b-1F(-)=—4da+b-1DOK&EWVETH %,
F)-F(-D)=8akVY. aZ0n:xFU)=F(-1). a=00 & = F(1) = F(-1) /
BMEE F(ea)=b-2a% -1 \\‘\\?///;”
0=a<lMEx da+b+1=6b-2a2-1=-6 .2a°-5=b=-4a+5 = 1 X

—1<a=0mrt X —da+b+1=6,b-2a’-1=-6 .2a°-5=b=4a+5

1=-a a=-10t=x
A F(-)=-4a+b+1 H/MHEIX F@=4a+b+1
—da+b+1=6,4a+b+1=-6 ..4a-7=b=4a+5
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b=4a+5 b=-4a+5




